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(a)

(b)

N

Find the total of 165 and 59.

.....................................................................

Find the difference between 59 and 165.

.....................................................................

2  Write the same digit in both boxes to make this sum correct.
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3

Join some of the dots to make a pentagon with exactly three right angles.

4 Here is a sequence of numbers.

T

Here is a spotty grid.

705

>

805 .

905

What is the next number in the sequence?
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Here are some signs.

= < >

Write the correct sign in each box.
You can use each sign more than once.

6 What number is half way between 152 and 1787

152
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{z: 7 Hereis acalendar for August 2000.

i SIM[T|[W[T]|F[s
| 3; 1123415
| 3: 6| 7|89 ]|10|11]12

13 1314 [ 15|16 [ 17 [ 18| 19

IE 20 (2122|2324 |25| 26
3 27 |28 [ 29 | 30 | 31
=
Mark was born on 29 July 2000.
On what day of the week was he born?
8  Write in the missing number.
2500 + =100
I © UCLES 2012 % 0845/01/A/M/12
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9 Here is a set of shapes.

[=2]
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Complete the frequency table to show how many of each shape there are.

Shape Frequency

6

3

A

(2]
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2 10 Chris is using a grid to work out the 8 times table.

we

z:

lgﬁ double 2 4 ° %
|§ LR
l"ﬁ’ double 4 8 2

IE

:E double 8 16 2

IE

Use the grid to help you work out this calculation.

16 x 8 = 1]

11 Here is part of a number grid.

37 38 39

47 48 49

57 58 59

Circle the number that is a multiple of 7.

(1]
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12 Here is a clock face showing a digital time.

15: 54

What time will the clock face show 50 minutes later?

13 Here is a place value chart showing the number 64.

10| 20| 30| 40| 50| 80

5

70 90

1 2 3 4

Here is a larger place value chart. Shade it to represent the number

Forty five thousand and forty-five
100 000| 200000| 300 000| 400 000| 500 000| 600 000| 700000( 800 000| 900 000
10000 20000| 30 000 @40 00 50000/ 60000( 70000( 80000| 90000
1000 2000 3000 4 000 5 000 6 000 7 000 8 000 9 000
100 200 300 400 500 600 700 800 900
10 20 30 40 50 60 70 80 90
1 2 3 4 5 6 7 8 9
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éq 14 What number is the arrow pointing to on this number line?
-
Z:
%3
; S O O T R
] iE T 90 90.2 90.4
IE
IE
IE
I
|
;§ ...................................................................... (10
I8
: _' 15 Write in the missing number.
0.85 + 1
[1]!
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16 Here is a line graph showing how Tarik’s mass increases as he gets older.

50

45 /l
40 .

35 /

Mass kg zg T
l/

15

10

5 6 7 8 9 i0 11 12 13
Age

(@) What was his mass on his 10" birthday?

LT T P T

------------------------------------------------------------
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17 Here are six shapes on a grid.

Ay

A AR

09 NOT WRITE IN THIS MARGIN

(a) Write the letters of the two shapes which are pentagons.

........................ e ssnnge sense [1] ,
(b) Write the letters of the two shapes which contain at least one pair of
perpendicular lines.
............... (110
18 Calculate.
962 + 26 =
(1]

—d
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19 Here are three digit cards.

5 6 7

Use each card only once to make these statements correct.

4 9 | < 2
5 2 | > 0
7 5 | < 7

20 Here are some number cards.

(a)

(b)

| © UCLES 2012

A | Three hundred and four

B | Forty-three

C | Three hundred and forty

D | Thirty-four

Write the letter of the card that gives the answer to 34 x 10.
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21 Write in the missing numbers.

Mmom

SAAAIAN 00000 000 00

e al

v D

to the nearest whole number
—

7.7

to the nearest whole number
—

10.25

(2, 3) has been done for you.

22 Plot five more points whose co-ordinates have a sum of 5.

LM MMM mmmmMmmMmmmmmmmmmm
"‘,'v:.';v Werliaatinst MM monamanem m M mmomT '\.l".’." ..:., 1

6
5%
4
, B
2
i 1
0

e

100 1
e

[ 3]

alisilesar

m M m o
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Here are five angle cards.

A B C D E
60° Zr';‘glgt hag:g:;ght half a turn 120°

Write each card in order from smallest to largest.

c
C
C
C
C
C
C
c‘
C
C
c
c
c
c
c
Cc
C
c
c
c
c

smallest largest
(111

24 Here are four measurements.

20 cm 1m 30 mm 2.5cm

Order the measurements from smallest to largest.

smallest largest
(1]

25 Complete this chart showing information about a rectangle.

Length (cm) Width (cm) Area (cm?) Perimeter (cm)

2 . 16

(2]
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26  Anna is thinking of a number.

R

)
el

DO NUT WRITE IN | HIS MAKGIN =

She says:

R e R R R )

PO

8005

» R ey}

If I halve my number
and then halve it again
my answer is 24.

What is Anna’s number?

DL UL T T I Y S RS e

...................................................................... (17 |
h : 27  Here is a number grid.
! 74 | 75 | 76
84 | 85 | 86
94 | 95 | 96
Circle the number that can be divided by 7 with a remainder of 1.
(1
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28 Pascal has a spinner.

(@) What is the chance of spinning a 27
Circle the correct answer.

impossible unlikely even likely certain

(b) What is the chance of spinning a number less than 10?
Mark your answer with an arrow (|) on the probability scale below.

| | | | |
o | | I |

impossible unlikely even likely certain

| © UCLES 2012 0845/01/A/M/12
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29 Noah is thinking of a number.

He says:

It is greater than 550 but less than 700.

It is a multiple of 25.
It is even.

It is not 600.

What number is Noah thinking of?
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